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Topic:- General Knowledge and Logical Knowledge

1) Jhelum, Chenab, Ravi, Beas and Sutlej are tributaries of . /s')?n-'l, a:l'l_d, Tl?ﬂ, Y 3R
Tqaqel o TETaP AT g1

1. Cauvery / AL
2. Narmada / THaI

3. Brahmaputra / SSgTY

4. Indus / ﬁfﬂ

Correct Answer :-

e Indus/ ﬁﬁ‘:{

2) Who is the Governor of Madhya Pradesh / qwﬁm%mﬁqév
1. Om Prakash Kohli / 311H USRI Biga
2. Ram Naresh Yadav / XTH Y gled

3. Balram Das Tandon / I¢IRTH &1 <&+

4, Sitasharan Sharma / IarRRT 7T

Correct Answer :-

« Om Prakash Kohli / 3{TH UBTRI HIgal

3) Find the odd one out: / Th ﬁcn:rsn?r ﬁﬁrq;
1,8,9, 36, 25, 216, 49

1. 36

2.49



3.9

4. 216

Correct Answer :-

« 36

4) If HONESTY is coded INODTSZ, then how is WORSHIP coded? | Tf¢ HONESTY P INODTSZ & SIfSd

foraT STt 8, A woRrsHIP B $1 BIfSd frar wram?
1. XNSRIHQ

2. XNSRIHQ

3. XPSTIIQ

4. XPTSlJQ

Correct Answer :-
e XNSRIHQ

5) If VIJAYA is coded VJLDCF, then how is DEEPALI coded? / Tfe VIJAYA DY viLDCF & Sifsd far wirar g,

@ DEEPALI Y P HITST fHaT ST
1. DFGSEQO
2. DFGSEPO
3. DFGSFQO

4. DFGTEQO

Correct Answer :-
« DFGSEQO

6) A few boys are sitting in a row. Prateek is sitting fifteenth from the left and Rahul is the tenth boy from
the right. If there are five boys between Prateek and Rahul, how many boys are there in the row? /

TSP U UfRT # 96 §E € | Uell 914 & Ursgai § 3R Y18l GI¢ & gdi g1 afe Ueie iR Iga &
ot o yig as g, o ufew o foraq) wTsd &2

1.29
2.31
3.33

4. 30



Correct Answer :-
« 30

7) The bank note printing press in Madhya Pradesh is at / & r ke | d& e HaUlTeq (ﬁrﬁﬂ) WT
RE g

1. Ujjain / I

2. Nepanagar / IR

3. Hoshangabad / BIRNTISTG
4. Dewas / Al

Correct Answer :-

¢ Dewas /m

8) Who is the President who has had the longest term in office? / d& Tl'g'qﬁf P %:, oo Jag adt
3faft o1 FTIBTA /T 82

1. Rajendra Prasad / oIS TG
2. Zakir Hussain / SR @T‘T

3. S Radhakrishnan / T [UTH W[
4. Hamid Ansari / @I 1\:Ia 3Ry

Correct Answer :-

e Rajendra Prasad / RISl TG

9) Who is the Chairman of SEBI? / 9l &T 3{eH& HI 32
1. Ajay Tyagi/ 3o TN

2. S Jaishankar / T STORIHR

3. C B Bhave / Il & HTd

4, UK Sinha /g & g1

Correct Answer :-

« Ajay Tyagi / 3o N



In terms of population, the largest city of Madhya Pradesh is / ST-HSIT & SMMYR W T W HT Jad
TITER R

1. Indore / Q'élq
2. Gwalior / TTfRTOR

3. Jabalpur / ST&[eTYR
4. Bhopal / arare

Correct Answer :-

¢ Indore/ sa?

11) How many scheduled languages are recognized in India? / YRa ¥ fa-t \?vlﬂ'\‘iﬁl?f YTYTY AT
T 82

1. 20
2.28
3.22

4.35

Correct Answer :-

s 22

12) Which among the following is NOT a region of Madhya Pradesh? / Fafafad s AT g
TR H TE 82

1. Bagelkhand / TUTQUS

2. Mahakaushal / II_E;@W

3. Malwa / HIdT

4. Chota Nagpur / Jel INTYR

Correct Answer :-

« Chota Nagpur / EI« INTYR

13) Which of the following states won the 10th National Award for excellent work in Mahatma Gandhi
National Rural Employment Guarantee Act, 2005 (MGNREGA) in 2015? / HgIHT e ?T@'q YTHToT
AR TR S 2005 (@USTTASRSSNT) & ded a¥ 2015 # by o1 & fore FHifea d @
e Iea 7 10971 TP REPR Sftar?

1. Gujarat / I[oIRTd



2. Rajasthan / XTSI
3. Assam / 3{YHH

4, Madhya Pradesh / H&] e

Correct Answer :-

e Madhya Pradesh / ¥ e

14) Which day is celebrated as International Yoga Day? / frafea st m@’q g feag & wu d
HATIT ST 32

1. April 23 / 30 23
2. June 21 /[ 21

3. September 21/ RaweR 21
4. July 21 / J[ETS 21

Correct Answer :-
o June 21/9[d21

15) The present Union Minister for Road Transport and Highways is / AT | gSPh qﬁﬂ%’f

3R TTeHNT & fRre ekt w3t P 32
1. Suresh Prabhu / W Yy

2. Rajnath Singh / IS Rig

3. Nitin Gadkari / e TSl

4. Kalraj Mishra / CNRNCAEE]

Correct Answer :-

« Nitin Gadkari / Hfa TS&®<1

16) The holy river that is the site for the Simhastha Kumb Mela / 9§ gfaa :I'QPI i} ﬁﬁw ?;7‘1-[ Al BT
AR

1. Narmada / THaT
2. Shipra/ R
3. Sindu / g

4. Ganga / T



Correct Answer :-

o Shipra / R

17) Tapti river flows into the / arat q?ﬂ ﬁ'\l‘w firadt %?
1. Bay of Bengal / Wa’ﬁ@'@

2. Gulf of Mannar / HAR &1 @ﬂ_eﬁ

3. Gulf of Khambhat / T¥STC P Wlal

4. Indian Ocean / %3 He™HTR

Correct Answer :-

« Gulf of Khambhat / ¥TC &I WS

18) The maximum strength of Lok Sabha as envisaged by the Constitution is VR ICUIE k|

TRBAT fPA TR SR, A U A RPaH_ Ge gl dPpd 81
1. 552
2.250
3. 546

4. 525

Correct Answer :-

e 552

19) With which game do you associate Saina Nehwal? / Il ﬁm g @9 A ddfua %?
1. Hockey / E}I’aﬁ

2. Table Tennis / C§d <Y

3. Badminton / agﬁﬁ_*f
4. Chess / Sl

Correct Answer :-

e Badminton / 33'&!?7{

20) ‘Korba Thermal Plant’ is located in / ‘HRAT YHd wWie’ fFra s § fRa %:

(7)



1. Gujarat / JJoIRTd
2. Uttar Pradesh / SR U

3. Chhattisgarh / m

4. Madhya Pradesh / %] UG

Correct Answer :-

» Chhattisgarh / m

21) India joined the Missile Technology Control Regime (MTCR) in the year/ CL | Wﬁm

WreNfre T srawT (TadRiemR) & wfire gaim Tl
1. 2011
2. 1998
3.2016

4. 2007

Correct Answer :-

e 2016

22) The first battle of Panipat in 1526 was fought between Babar and / 1526 ﬁ, U &1 ugdt ?IS'I%
TR 3R 570 Si9 as! 718 A:

1. Rana Sanga / 70T 0T

2. Hemu/ %71

3. Daulat Khan Lodi / Sldd & @lat
4. Torahim Lodi / SSITTGH aid!

Correct Answer :-

« Ibrahim Lodi / SSTgH @a

23) Maharashtra granted the minority status to in 2016 / 'q%'RTgﬁ 2016 § Ca|

TP ol Tipd farar ATl
1. Parsis/mﬁlﬁf
2. Sikhs / Rt

3. Jews /qﬁﬁ?ﬁ



4. Peshwas / ﬁ%ﬂeﬁ

Correct Answer :-

. Jews/uﬁﬁu}f

24) Complete the series choosing the missing number: / TG TBAT TADR YT BT GRT DITOIG:
8, 24,12, , 18, 54

1. 24

2. 36

3.42

4. 48

Correct Answer :-

25) Complete the series choosing the missing number: / W J&AT gAHR Y@l Gl T PifoTg:
36,28,24,22,

1.20

2.21

3.18

4.22

Correct Answer :-

o 21

26) Complete the series choosing the missing number: / Y IBAT GAHT AT DI TIT BIFOIT:
28, 33, 31, 36, , 39

1. 38

2. 34

3.35

4. 33

Correct Answer :-



« 34

27) Select the option that is true about the Statements and Conclusions given: / 39 oo

&1 9 PIfore & fp R e FYAT 3R fAepul & ar & 9gl 8:

Statements: [/ ®Y:

No river is sea / I3 4! GY% el &
All seas are oceans / 9+ TY% HERTR g

Conclusions: / fAp:
1. All rivers are oceans / 9 7d AgRITR &
II. No river is oceans / P d! HEHTR gl &

1. only conclusion Il follows / Had sy || mm%

2. only conclusion | follows / &Had ey | &rﬂawm%

3. neither conclusion | nor conclusion Il follows / 7 &1 fIs T | 3R 7 &1 s |1 Waﬂ?f%
4. both conclusion | and Il follows / &Y | 3R 11 A &WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows /T & &6y | 3R 71 gt fAases || WW%

28) Select the option that is true about the Statements and Conclusions given: / 39 fawe

1 999 PIfoTE & fp R T FY=T iR fAepul & ar & 98 8:

Statements: / ®Y:

No chain is ring / 13 SieiR S 81 8
All rings are bangles / Wt spfeat gfsai &

Conclusions: / fAes:

I. Some bangles are rings / $© gf$di Ui &
II. Some chains are bangles / & SoIR F[f&4i &

1. only conclusion Il follows / Had sy || GIWWT%

2. only conclusion | follows / &Had ey | mm%

3. neither conclusion | nor conclusion Il follows / 7 &1 fIST | 3R 7 &1 fsh |1 WW%
4. both conclusion | and Il follows / FSHY | 3R I G &WW%

Correct Answer :-

« only conclusion | follows / &Had Fpy | HWW%



29) Select the option that is true about the Statements and Conclusions given: / 39 oo

BT 941 HIfFTE Sl fh f3w T HY=T i fAepul & av & 98 @:

Statements: / ®Y-:
Some cranes are swans / T AR g9 &
All swans are ducks / 9t g9 da@ &

Conclusions: / faep:
I. Some cranes are ducks / $9 IRY ddd &
II. Some ducks are cranes / $9 dd¥ IARYH g

1. only conclusion Il follows / Fad sy 1] \’:F\NTUTWT%

2. only conclusion | follows / A &HY | G{WW%

3. neither conclusion | nor conclusion Il follows / 7 &1 fIST | 3R 7 &1 fsh || &WW%
4. both conclusion | and Il follows / fsh | G?R ] _Q;l:ﬁ WW%

Correct Answer :-

« both conclusion | and Il follows / fTsHT | 3R 11 G &aﬂwmﬁ%

30) Select the option that is true about the Statements and Conclusions given: / 39 fApea o1

99 HIfore ot fb 3w T Hy=) ik frepul & IR & 9 ?:

Statements: / ®Y:
All houses are bungalows / I} ¥% §7dl &
Some bungalows are flats / $® Td Tdie &

Conclusions: / fApd:
I. All houses are flats / 9 TR FT &
II. All bungalows are houses / 94 §7Td &R &

1. only conclusion Il follows / Had fsHY Il G@TUTWT%

2. only conclusion | follows / Had Fpy | G{WW%

3. neither conclusion | nor conclusion Il follows / 7 &1 fIsT | 3R 7 &1 fsh || mm%
4. both conclusion | and Il follows / fTsFT | 3R 1l G WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows /= &1 G | 3R =1 gt faed || mfb_{ﬁ%

31) Indian Air Force formally commissioned its first women fighter pilots in / YRA qa1g T
F 3rut wyw Afger YA UrgEe &t uEie FU A o yarioT fosam am

1.2012
(1



2. 2008
3.2016

4. 2010

Correct Answer :-
e 2016

32) If CENTURION is coded 325791465 and RANK is coded 18510, then how is 78510 coded?
/ f¢ CENTURION &' 325791465 31X RANK $! 18510 ¥ Hifed forar wrar €, af 78510 &1 »4
®ifsd fear srmm?

1. TAKE
2. BANK
3. TANK

4. SANK

Correct Answer :-
¢ TANK

33) The series given below contains a sequence of numbers. Identify the incorrect

combination: / R & TS Y@ #, WM BT TP HH IUFRIG & | TeTd G TgHATT:
0,4,9,16,25

1.0

2.25

3.9

4.4

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & 7 g #, FEASH BT TP HH IURIA &1 TAd HAIS YgaTg:
4, 16, 36, 49, 64, 100, 144
1. 16

2.49
(12)



3. 64

4. 144

Correct Answer :-

. 49

35) In how many ways can the letters of the word 'STRANGE' be arranged, such that the 'GE'
in the word will always come together? / 'STRANGE' (g & 31&RI @ fha-il UpR A T sqafeyd
forar 5 I & fF U A 'GE' U= 9IY 3Me?

1. 5040
2.720
3. 2520

4. 1440

Correct Answer :-

e 1440

36) Complete the series choosing the missing letter/s: / &l SER/HERT B ECEZE LRI El’ﬁ"BT Piforg:
acc__bc__a__ccbbec__

l.a,b,a,b

2.b,c,a,a

3.b,c,a,b

4.a,a,b,c

Correct Answer :-

e b,caa

37) In a certain code language God is greatis written sela soja se and Oh my god is written
Ke soka soja, then how is God coded? / Tdh WH PIS UINT H God is greatﬁ sela soja se fera
STdT 8 3R Oh my god &Y Ke soka soja for@t Sra1 8, @ God & A Hifsd fhar swm?

1. sela
2. soka
3. ke

4. soja
(13)



Correct Answer :-

38) In a certain code language, polo folo zolo means sun pulls earth, zolo solo bolo means
earth is round, and solo sula soka means what is this. Which is the word for bo/o in that code
language? / U% WY IS UINT H, polo folo zolo HT1 A sun pulls earth; zolo solo bolo FT Y
earth is round 3R solo sula soka 1 IS what is this BT 81 59 BIS UTHT H bolo & fore fg
g BT SXAATA fHaT 14T 82

1. earth
2. round
3. what

4. sun

Correct Answer :-

e round

39) Five children are sitting in a row. A is sitting next to B, but not C. D is sitting next to
E, who is sitting on the extreme left and C is not sitting next to D. Who are sitting

adjacentto A? /| T SR UH UfRIA IS US| A, BHF U H ITe W CH U 81 doT1 21D, EF
TR 9671 8, 51 {5 18 H119 IR 3371 8 3R C, D & URT 81 971 8 | A & U HI 9371 82

1. insufficient information / STt SHBRI
2.BandC /B3iRC
3.EandB /ESRB

4.DandB /D 3RB

Correct Answer :-

« DandB /D3RB

40) In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different.

Choose the odd one out:

/ FFufatEa vy #, sieRl & T wiE f3r ¢ §1 391 9 # Fad U o D, $TH FHHT §
Wafd TP AT |

IH A faww &1 9u= Fifere:

1. HK
(14)



2. MP
3.NQ

4.BD

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1)
If (x)® / 4 = (x)%, then what number should replace 'x? { If¢ (x)* / 4 = (x)%, dT FH
T& &1 X' B Ifoeniid S afee?

1.4
2.2
3.1

4. 6

Correct Answer :-

. 4
2) i
In the sequence shown below, which figure comes next? / @it &3 & &H #, 3Ter
B Bl T HAEAr?
©) ﬁ\' 'ﬁs ‘
<@/ <\i/ \_/ ?
1 il i v
1.

(15)



3.
4,
Correct Answer :-
3)
Solveit-§+4 = aaa:i|_+%_7=o

13
37

s
20
4,

Correct Answer :-

(16)




4)

If the following two squares shown below overlap, which one of the following options

is formed? / At @@= gF @91 Aifdcafid g € o B & & &ia a1 ve AHeq d=ar &7
®

L

L

L4
/¢
O
O
A
®
[

Correct Answer :-

(17)



In the sequence shown below, which figure comes next? / Ar & T3 &H #, el
HIFId Bl T H7AEr?

q [(d (4|

2. ‘
3: ‘
A

Correct Answer :-

6) If Mahesh’s is older than Suresh by 6 years and the ratio of their age is 9: 7, then find the age of

Mahesh. / afe TRRT, TR A 6 T4 T3 § 3R IAPT 3T BT SFUTA 9:7 B, A AR B 3TY J1d He |

1.21
(18)



2.28
3.27

4. 30

Correct Answer :-
o 27

7) Ram and Ravi can do a piece of work in 10 and 15 days, respectively. In how many days will the work

be completed, if both of them work together? / ITH 3R 3 forelt ol Y HH: 10 3R 15 A s
TP &1 afe 3 Y A1y ey orf S ) fpan fe=t & ot gof gk

1.5 days /5 fe
2. 10 days / 10 fa71
3. 16 days / 16 fa1

4. 6 days / 6 fad

Correct Answer :-

« 6days /6feT

8) A number is such that the product of its digit is 12. When 36 is added to the number, the
digits get reversed. What is the number? / U% BT 39 UPR & [P 39 3P| T [UHEGA 12 81
9 39 =T H 36 SIST Y @) IHP 3 Ufaaiia gl oird 8 | 98 =T T 82

1.43
2.26
3.34

4. 62

Correct Answer :-

e 26

9) The difference between the compound interest and simple interest on a certain sum of
money in 3 years at 5% p.a. is Rs. 6,100. What is the initial amount? / f&dt fAféa eI w®
5% wufaad W 3 auf & awhgfe e SR QTUR &S & ¥ 3R 6,100 FUT 81 URFS Ay 71 82

1. Rs. 5,00,000 / 5,00,000 Eece]

2. Rs. 5,000 / 5,000 3T

(19)



3. Rs. 8,000 / 8,000 3UY

4. Rs. 8,00,000 / 8,00,000 ST

Correct Answer :-

« Rs. 8,00,000 / 8,00,000 TT

10) At present, the ratio between the ages of Niranjan and Deepak is 4 : 3. After 6 years,
Niranjan's age will be 26 years. What is the present age of Deepak? / FaqE # fARe 3R
U B Y BT 3FUTT 4 : 3 81 6 IUT & UYTd, FARw Pt 3myg 26 af ghft| Suw Ft adur g TN
2

1.24 years/24a'5f
2. 15 years / 1599
3. 18 years / 18 Y

4. 21 years /21 CL

Correct Answer :-

e 15years/ 15 9

11) The average of three consecutive odd numbers is 5. Find the highest of the three

numbers. / 51 HATTA faww Femsi &1 3id 5 81 il T@el § & IwaH WS &I J1d B
1.7
2. 11
3.5

4.9

Correct Answer :-

12) A shopkeeper brought some wheat for Rs. 35,000. Due to a leakage in the storeroom,
one-seventh of the total wheat had become mouldy. If he sold the good wheat at a profit of
10 % and the mouldy one at a loss of 25%, what is his profit or loss? / T® gHIHGR 3 33 ﬁf
P 35,000 TUT H W1 M H 1@ 811 & SR, $a A ST Aadl U WRIE g1 1411 afe a8
3D N B 10% F ATH WR 3R TG g B 25% P 1A WR 39, @ IS A1Y 1 31 F41 R

1. 7%

2. 8%

(20)



3. 5%

4. 6%

Correct Answer :-

e 5%

13) A can do a work in 15 days and B in 20 days. Both of them work for 5 days, then the
remaining work is: / A T% &1 &) 15 fA1 # 3k B 20 fa=f # &% gpar 81 3 @41 5 e & ferw
P HYd &1 99 T4 g3 P §:

1. 5/12
2.1/3
3.5/6

4.7/12

Correct Answer :-

e 5/12

14) Two trains, each 100 m long, moving in opposite directions, cross each other in 12 sec. If

one is moving twice as fast as the other, then the speed of the faster train is 8/ aﬁﬁ,
S foF ycd® 100 Hier awt &, faudia fazn o 9@ 3 § ok 12 Ivs # Ue gk &1 UR $vdl 31 afe
T®, O3 | I Al | 9a 3G 3 O Faq arelt ¥ @1 i) gl

1. 30 kmph / 30 foset wfct ger
2. 20 kmph / 20 faHt ufq ger
3. 24 kmph / 24 &t Ufd dar
4. 40 kmph /40 Tl Ufd €eT

Correct Answer :-

« 40 kmph / 40 foH ufd geT

15) Pramod scores an average of 60 % in an examination consisting of 15 papers. He has
scored only 40 % average in five of them. What is the average scored in the remaining

papers? / UHIG 15 U U1 &t TN H 60% F NI 3P UTW Hal g1 30 & Uid # 98 Had 40%
3N & U HIa1 81 AV Uy U A i 3 T 82

1. 100 %

2.80 %

(21)



3.65%

4.70 %

Correct Answer :-

e 70 %

16) A car covers a distance of 500 meters in 20 seconds and a bus covers a distance of 30 km
in 45 minutes.What is the ratio of their speed? / T&% &R 500 HieX 31 g Fi 20 THUS H T4
PRl & MR TP T 30 fHft Y gt Y 45 e & au Tt 81 I fd F1 SrguTa T FhIM?

1.6:9
2.9:4
3.4:9

4.9:6

Correct Answer :-

17) A boat travels at a speed of 10 kmph in still water. The speed of the stream is 4 kmph.
How much time will the boat take to travel 30 km upstream? / f®R & # A19 10 fH+ ufa ger
B AT A T B! g1 YURT D) T 4 fhet ufe ger 81 oy 9 faudia fa=n & 30 faeh &t aren & fae
A1g faar Iwg @l

1.3hrs/3’a%
2.6 hrs/ 6 H¢
3. 300 min /300 B e

4. 500 min / 500 fHE

Correct Answer :-
« 300 min /300 fAe

18) A cricket player scores 20, 30, and 40 runs each in different matches. Find the average

score of the player? / U& fohdbe faardt fafd #=f & 20, 30 3R 40 319 9101 81 fAATSY &1 Nwa
TR JId B}

1. 40
2.50

3.45
(22)



4. 30

Correct Answer :-
e 30

19) If the heights of two triangles are in the ratio 3 : 2, and the bases are ip theratio2:5,
then what is the ratio of the areas of the two triangles? / af¢ g @il @1 15 3 : 2 U &
8, 3T 3P SATYR 2 : 5 3JUTd | §, 99 G| (ADIVN & SABa! BT SJUTd FT 2

1.3:2
2.3:4
3.15:4

4.3:5

Correct Answer :-

e 3:5

20) If the heights of two triangles are in the ration 3 : 2 and their bases are intheratio2:5,
then what is the ratio of the areas of the two triangles? / af¢ gl fAHIVN 1 SHa1s 3 : 2 3UTd A
8, SR I7T& SMYUR 2 : 5 3JUTd & §, 99 Gl BV & &ABal BT AU T GRIT?

1.3:2
2.3:4
3.15:4

4.3:5

Correct Answer :-

21) Evaluate: / Hﬁﬁﬁﬁ:

(0.00032) ~ (3/5)

wh | k2

Lo |

(23)



L | =

22) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: Fﬂ%é’fﬂ% mﬁ, 3Ry aﬁ?maﬁmwmﬁ%aél naawﬂmuamﬁq

i.huioi70110ihuoi
ii.huioi70110ihuoi
iii.huioi70110ihuoi

iv.huioi70110ihooi

4. il
Correct Answer :-

o iV

23) Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafaam

IR dl # I = 33 A ud & St HE I A1 UP 81 22

Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(24)



(i) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(ii) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Clkarang Selatan, Kab. Bekasi 17550

(iii) Baker Bani
JI. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

(iv) Baker Bani
J1. Industri Utama Blok RR2C,

Jababeka II, Desa Pasirsari,
Lemahabang, Cikarang Selatan, Kab. Bekasi 17550

1. iii

24) Find the average. / 3Na Ferferd
29, 34, 39, 44, 49 & 57

1. 42

2.39

(25)



3.37

4. 46

Correct Answer :-

. 42

25) If three fifth of a number is 40 more than 40 % of the same number, what is the number? /uﬁ Th ST
BT 3/5, I TWAT F 40% A 40 P 8 O 98 TR RT 8?2

1. 100
2. 400
3. 150

4. 200

Correct Answer :-

« 200

26) Rs. 1,800 is shared between A, B, and C. If A gets thrice of B, and B gets twice of C, then what is the
share of A? / A, B, 3R C & &9 & 1,800 ¥UA B gicT TT1 A A A B FT faR[A1 3R B A ¢ &1 g1 9
frare, A w1 RRETT R E?

1. None of the above /mﬁﬁﬁéﬂr‘é
2. Rs. 1,200 /1,200 3UY
3. Rs. 1,300/.1,300 ST

4. Rs. 1,400/ 1,400 U4

Correct Answer :-

« Rs. 1,200/ 1,200 39

27) What percent of 1.2 is 1/5? / 1.2 T fpa=11 ufa=rd 1/5 82
1. 16.67 %

2.25%

3.20%

4.15%

(26)



Correct Answer :-

e 16.67 %

28) Mohammed bought a television set for Rs. 12,000 and later sold it for Rs. 10,000.What is
his loss percent? (Approximately) / HIg®E 1 T dIdt Ac &) 12,000 TUA # WIeT 3R 91¢ & 54
10,000 ¥UA ¥ 99 fear| 91 g1~ ufowrd =am 82 (FTH)

1.16.5%
2.17.5%
3.145%

4. 18.5%

Correct Answer :-

e 16.5%

29) A father is 30 years older than his son however he will be only thrice as old as the son
after 5 years. What is father's present age? /T fiar 39 g7 & 30 af ss181 5 9f 91¢ a8
AR T N Fad forpAr g1 ghm | far &t adur ey @ 82

1. 40 years / 40 ¥

2. None of the above / SURIGd H I d;lﬁr 7‘1%1
3. 50 years / 50 9%

4.30 years /30 9%

Correct Answer :-
e 40 years / 40 CL

30) If 75 % of a number is added to 75, then the result is the number itself. Find the
number. / Tfe TH TWAT BT 75 %, 75 A ST S1a1 & ot TRomH a8} T2 gidt 81 39 |-l H J1d
2y

1. 350
2. 250
3.300

4. 280

Correct Answer :-

(27)



* 300

Topic:- Science and Simple Arithmetic

1)
The given graph represents the number of students who have passed in various subjects in a class
of 30. The pass percentage of Mathematics is: / TGAT -7 HTel@ 37 SIA1 ahl FE&AT &l

o efa &ear ¢ Siegler 30 &1 e & Bffes fawdt & scdor fosar 81 afvra &
ﬁﬁuﬁsl?r%:

35

30

25 1

20 A

15 ‘ -

10 A HNo of students
5 - oE T ger
0 v . . . v

English  Hindi Mathematics Science Social Sanskrit
st RS afom fasmer, Science gemar
Sl nEEs
CeiC

« 50%

2)
P (P =(GF hthenx=__ /3R ()ZIx(P=(Gr2adx=___

(28)



4.8

Correct Answer :-

. -4

3)
The diagonals of a rectangle ABCD meet at O. [f £BOC = 44°,

then /OAD = . /3d ABCD & fd&ol 0 oX Aed £l
gfe 4.BOC=44°.dd +0AD=___

o

1. 64

o

2.58

o

3. 68

o
4.78
Correct Answer :-

o

. 68

K x* + = =194, then the value of x® 4 —is: /x* + =194,
ad x* + 5 &AM §:

1.50

2. 46

3.54

4,52

Correct Answer :-

A rectangular sheet of paper 44 cm X 18 cm is rolled along its length and a cvlinder is formed.
The volume of the cylinderis: / 44 AT x 18 FHT JIAHR HETA FT M HT ITFHT

TS & "I AR A @ ¢ 3R UF S0 &1 FAT At 81§60 #7 3aadT o

(29)



1. 2700 cm?3 / 2700 I3
2.2727 cm3 [ 2727 T3
3.2772 cm3 [ 2772 T3
4.792 cm3 /792 ¥H1B3

Correct Answer :-

e 2772 cm3 /2772 9H3

When @ + (2x—3)=(2x + 3). then @ stands for: /g @ + (2x-3)=(2x+3), dd @
rasT disd o

1.4x2+12x+9

2.4x2 -9

3.4x2—12x+9
4.1

Correct Answer :-
. 4x2-9

7)
If9%=y—1§=thenthevalueofyis: /ot 9§=y—l§: dd

v & AT ¢

41
TH

25
7. 12

127
12

(30)



Correct Answer :-

8) If AB, BC and CD are equal chords of a circle with O as center
and AD is the diameter, then ZAOB = _ /Tfe AB.BC

3R CD &ex O & A dcd &I a1 § va AD &9
8,09 zAOB=____

1. 60°

2.90°

3.30°

4. 45°

Correct Answer :-

. 60°

9) A teacher wants to arrange maximum possible number of 6000 students in a field such that
the number of rows is equal to the number of columns. Find the number of rows, if 71 students

were left out after arrangement. / WﬁT&‘ﬁ? Udh &}5[ H 6000 DT Bt SfUFIH AU F=IT
P! 5 UPR AU BT IIgdl ¢ diiP UfRidl Bl T T+l P §&I1 & JA gl | af
AT & 91 71 BT Fe T & a1 Uikl &) S J1d L |

1. 80
2.77
3.78

4.76

Correct Answer :-

10) A car travel 432 km on 48 liters of petrol. How far would it travel on 20 liters? / ¥ PIX 48

diex Ugia | 432 T &Y amn wedt 81 20 e Ueia § fohasit v 9@ amn &2
1. 176 km / 176 fobdit

2. 200 km / 200 fHT
(31)



3. 180 km / 180 fopHl
4,144 km / 144 &+

Correct Answer :-

« 180 km / 180 Tt

11) The value of a flat constructed at a cost of Rs. 1000000 is depreciating at a rate of 10% per
annum. Its value after 3 years of construction will be: / 1000000 '\""Ta B AT ﬁ ﬁfﬁﬂ' ﬁ? &
e o1 ufaad 10% $t &R I raqed 81 38T 8 | FAufor & 3 9 & vyt sae geu gim:

1. Rs. 729000 / 729000 ¥YY
2. Rs. 875000 / 875000 ST
3. Rs. 750000 / 750000 ST
4. Rs. 700000 / 700000 TTY

Correct Answer :-

« Rs. 729000 / 729000 SUA

12) The area of trapezium having its parallel sides equal to x + 3 and 2x + 7 and its height 18 cm
is 144 cm?. The difference of its parallel sides is: / T% THAT BT HIAR 'ﬂ\_rlTa x +3 3R 2x

+7P FHM g 3R ITB! SIS 18 GHI 1 I JHAH PT &Ahd 144 AH2 g1 ITB!
MR YoI3il o7 3R 3:

1.7 cm /7 TH
2.10 cm / 10 94T
3.6 cm / 6 9H!
4.5cm /590

Correct Answer :-

. 6cm/6@’£ﬁ

13) Which one of the following can undergo nuclear fusion? / F=IfafEa & | fpad AfteTa Jaa ot
ufehaT | oA B HHTAT 82

1. Thorium / ARTH
2. Krypton / b

(32)



3. Deuterium / SICRTH
4. Uranium / lﬁﬁqﬂ

Correct Answer :-

+ Deuterium / SICRIH

14) The objects which emit their own light are called . /%aﬁqﬁﬁ YT BT TG Jedford

SIS, Peadi gl

1. illuminated objects / 3{eipd TXJY
2. reflecting objects / qﬂﬁ?ﬁa@
3. opaque objects / 3rqreeff RS (Y
4. luminous objects / &I TEJY

Correct Answer :-

« luminous objects / &It TEJT

15) When you apply perfume on your body, you feel cool because: / 5 30 F&d FTAWRST
T € < 3ATY ST He Y Hd 8, Flfh

1. Perfume is kept at a low temperature. / 2 P! " IIHH H QT SIral % |

2. Perfume condenses easily by absorbing energy from your body. / 3P T T Sl b SERNT B EE
ST & Hufd 8 S g |

3. The solvent in the perfume evaporates easily by absorbing energy from your body. / 9 T IulRyd faamas
3T T Y Holl bl AR B ST & I B STl 5

4. The solvent in the perfume evaporates easily by transferring energy to your body. / 33 &1 fdd@a® 3Mddh a9 H
Foli Bl RIMIAR B S § Iftrd 81 Sl |

Correct Answer :-

e The solvent in the perfume evaporates easily by absorbing energy from your body. / 29 T IulRyd faamas

31T T T Holl b ST HR S T q1fed g) Srar g

16) Small structures inside a cell that works together is called . | BB F HiaR B B
TEATE S TSP 1Y R Bl &, Pgard gl

1. nucleus / TTfNE
2. organelles | BIRABHT
3. inclusions / JHTART

(33)



4. cytoplasm / mﬁq

Correct Answer :-

e organelles /W

17) Which one of the following is an exhaustible resource? / feaddsmar Th Mg T %?
1. Coal / BITQT

2. Rain precipitation / T e

3. Air/dIig
4. Tidal energy/ﬁmﬁ Sl

Correct Answer :-

. Coal/ﬁw

18) Find out the wrong pair. / TTeld Wﬁﬁl’%ﬁﬁl
1. Intestine — involuntary / 3{id - \Hﬁm

2. Hand muscles — voluntary / 8¥d ﬁ‘x’ﬁ - Q‘W

3. Neck muscles — voluntary / Fo usft - m

4. Air passage — voluntary /aT{{II'ITf— ifm

Correct Answer :-

* Air passage — voluntary / I g2 1) ﬁ%ﬁ;

19) Muscle is connected to the boneby ___ . /'ﬁ’!ﬁ, I - * gRI wﬁaﬁ?ﬁﬁl
1. Cartilage / IURY

2. Ligaments only / FHad g

3. Both ligaments and tendons / H1g 3R Hexl ﬁ:ﬁ

4. Tendons only / had HST

Correct Answer :-

« Tendons only / Hdd &S

20) Candles and cosmetics are made of: / AYAERAT 3R Higd THIYTI IR TA8IA @ :
(34)



1. Paraffin wax / Rt 919
2. Bitumen /ﬁ'@l‘[

3. Kerosene / BRI

4. Diesel / Stold

Correct Answer :-

« Paraffin wax / TRIfth 519

21) Hydra reproduces by: /WWWWW%
1. Budding / &l

2. Binary fission / fgfads

3. CIoning/Tﬁhﬁ"T

4, In vitro fertilization /Eﬁ'@ﬁﬁﬂ:{

Correct Answer :-

e Budding / <1

22) We feel more comfortable with dark coloured clothes during winter because: / gféal & R
BU BT T P HUS! H AfUS Hgo HegH 4 &, Fifd:

1. Dark coloured clothes looks good /TR T & HUS 3w fead g1

2. Dark coloured clothes reflects more heat /ﬁ?ﬂ%m 3ifdep TTHf o) wR1afdd #d B
3. Dark coloured clothes absorbs more heat / TI'@T‘TQFW@ 31fdep T Y AT HRd
4. Dark coloured clothes are very cool / TITEIB\’ TNFH m%* ggd %3[ offaa Eﬂ?[ %I

Correct Answer :-

« Dark coloured clothes absorbs more heat/‘ﬁ?iﬂ%ﬂﬂ% 31fdep THf Y Srafid P B

23) Which of the following statements are true?

(i) Angles forming a linear pair are supplementary.

(ii) Angles forming a linear pair can both be acute angles.

(iii) Two lines parallel to the same line are parallel to each other.

(iv) Two lines perpendicular to the same line are perpendicular to each other.
(35)



/ FFafafaa | @ o1 W $Y= 98l 32

(i) T Qe g &1 fAmfor #a o e 7

(i) T ¥@®w g &1 fFaior s+ ard S Fior € =g Fivr 81 TFd B
(iiii) TP € 3@ & FHMIGR G IR Th g3 & IR il &

(iv) TP € ¥ET1 & iaad & @1 UH O & aiaad gt o

1. Only (i ) / &ad (iii )

2.(i)and (iii)/ (i) SR (iii)

3. (i )and (i )/ (i) SR (iii )

4.0nly (i) / dad (i)

Correct Answer :-

e (i)and (ii)/ (i) 3R (iii)

24) A metal when brought near the end of a strong magnet, it gets repelled. This metal is: /
w9 fdt wfda=melt gae & SR & Aide te urg arg 9 8, a 98 39 ufawita $var 81 98 urg
= % :

1. Non-magnetic / 3P
2. Ferromagnetic / Fﬁ'@’w
3. Diamagnetic / Qﬁw
4. Paramagnetic / STIHDIY

Correct Answer :-

« Diamagnetic / UfdgE®HY

25) With the money Arvind has, he can buy 50 pens or 150 pencils. He kept 10% of it aside
for taxi fare and with the remaining, he purchased 54 pencils and n pens. The value of nis: /

RIS 3 U B} Y=RIRA | 50 FAH T 150 Ue WS AhdT1 21 3T 10% T fpwe & fow
ST ¥@ feuT 3R A ¢RI | 54 ARG 3R n FaH WIS n FTHAA &:

1.27
2.25
3.29

4. 30

Correct Answer :-

(36)



26) Name two organelles that have their own genetic material. / 39 33[ PRSI & 99 qdigy, ford It
T4 B MIafRIF qreft gt 81

1. DNA and RNA / SIU-U UG 3RUAY

2. Mitochondria and plastids /Wﬁaﬁ%ﬂT@W
3. Ribosome and Golgi bodies /W@WW
4. Dictyosome and endoplasmic reticulum | STTTOThT aYUT Sidea! Sferes!

Correct Answer :-

» Mitochondria and plastids /mﬁ%mmm

27) One of the features about gymnosperms mentioned below is incorrect. Identify the same. / =

givfa sFTgadteh & IR A faxivars & @ U Tad 8 ISH! Ugda B

1. The seeds are not enclosed within the fruits. /WW% eﬁﬁﬁéﬁ %I

2. Cones are the reproductive structures. / X@ TSI TRATE & |

3. They mostly comprise evergreen trees. / 0 fAHR TR a?s' M 8 &
4. They bear colourful flowers. /S:{ﬁ RUiC| Bhd 3Md %I

Correct Answer :-

o They bear colourful flowers. / 3‘*!1?[ ruiC| Bd 3MTd %I

28) During respiration O5 is taken in and CO; is released. The physical process that aids in this

exchange is: / m%ﬁmoz W?ﬁﬁﬁ%aﬁ?cozﬁ'ﬁﬁiﬂ?ﬁ%l Wﬁﬁmﬁﬁlﬁﬁﬁm
GG Bl ot

1. Osmosis / UTHARTT
2. Adsorption / RIRNIN
3. Absorption / SNy
4. Diffusion / faERUT

Correct Answer :-

« Diffusion / faaRuT

(37)



The distance between stars and the Earth is measured in ./ aRY qUT qu‘ﬁ Ca IOk | @ o)
# 19T STt 2

1. meters / HIexX

2. light year / BT Ty

3. kilometers / framiex
4. mega units /ﬁmm
Correct Answer :-

« light year / PEANICL

If 3048625 = 3375 X729, then the cube root of 3048625 is: / Tig 3048625 =3375 X729 AT

3048625 I HelHe b

1. 135
2.45
3.225

4.75

Correct Answer :-

e 135

(38)



